):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK XXX XXX XKXXXKXXXXXME/1-6600502-00001XX
LimitExerciseOl for No.9395

X —T7x+6
Nol=|f(x)=—"—""",a=1
x—1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
X +2x
No2=|f(x)=—77,a=0
x|
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
X
No3=|f(x)=—",a=0
sin(x)
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

e -1
N04:[f(x): ,a:O}
X

| x [-0.2000/-0.1000]-0.0100/-0.00120|-0.0001].. |a = O]...| 0.0001] 0.0010] 0.0100| 0.1000] 0.2000]

4—ox }

N05=[f(x):—,a: 16
16 —x
| x ]115.8000115.9000115.9900115.9990115.9999|.. |Ja = 16]...116.0001116.0010(116.0100116.1000116.2000 |

No6=[o=-2,B=2,y=3,8=8,6=11]
DGR (CHE NN IND 9.9:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.0:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKXME6/1-6600502-00002XX

LimitExerciseOl for No.9419
cos(x)—1
Nol=|f(x)=—""—,a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3x
No2=|f(x)=17>_ ,a=0
|x +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-2+x
No3=|f(x)=—"—",,a=2
Sx—-14+x
x | 1.8000] 1.9000] 1.9900] 1.9990] 1.9999|.. Jla = 2]...] 2.0001] 2.0010| 2.0100| 2.1000| 2.2000]
3-3¢"
No4d=|f(x)=—""a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
16 —x
NoS=|f(x)=—="",a=16
x -4
| x [15.8000/15.9000115.9900115.9990(115.9999].. Ja = 16]...]16.0001]116.0010116.0100116.1000116.2000 |

No6=[a=-10,3=-9,y=-3,0=2,=9]
DN BET RN PAIED 0:06.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX XKXXXXXXXXME/1-6600502-00003XX
LimitExerciseOl for No.9428

Ab]:[ﬂx): 5 ,a:O}
|x +2x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
B3x+2+x
No2=|f(x)=—"F"" ,a=
-2+x
x | 1.8000|] 1.9000| 1.9900| 1.9990] 1.9999|.. la = 2]...| 2.0001| 2.0010|] 2.0100] 2.1000| 2.2000]
sin(x)
No3=|f(x)=—"a=0
X
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
3-3¢
No4d=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Jx -7
NoS=|f(x)=—"—",a=49
x—49
| x 148.8000148.9000148.9900148.9990148.9999|.. |a = 49]...149.0001149.0010(149.0100149.1000149.2000/

No6=[a=-6,=-2,y=3,0=5,e=06]
DN LT RNV HIED:0:0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX XXX XXX X KXXXKXXXXXME/1-6600502-00004XX
LimitExerciseOl for No.9459

sin(x)
Nol =|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3¢ -3
No2=|f(x)=—"—"",a=0
RS
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—S+x
No3=|f(x)=—" " ,,a=5
35-12x+x
x | 4.8000] 4.9000] 4.9900] 4.9990] 4.9999|.. Ja = 5]...] 5.0001] 5.0010| 5.0100| 5.1000| 5.2000]
3]
No4=|f(x)=—"""",a=0
X +3x
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]

x -2
NoS=|f(x)=—"a=4
4-x
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

No6=[a=-8,B=-1,y=4,0=5,e=11]
PN RECEREIN TS ID 0:0:6.0:0:0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX X KXXXKXXXXXME/1-6600502-00005XX
LimitExerciseOl for No.9476

102055
Nol=|f(x)=—">""",a=0

X +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
7x
No2=|f(x)=—"""a=0
e —1
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
8x+12+x
No3=|f(x)=—",a=2
-2 +x
x | 1.8000|] 1.9000| 1.9900| 1.9990] 1.9999|.. la = 2]...| 2.0001| 2.0010| 2.0100] 2.1000| 2.2000]
Jx -5
No4=|f(x)=——"a=25
25 —x
| x [24.8000124.9000124.9900124.9990(124.9999].. Ja = 25]...125.0001125.0010125.0100125.1000125.2000/
X
NoS=|f(x)=—",a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-3,B=-1,7=2,8=3,6=6]
DRI (CHE SN IND 9.9:9.:0.9.9:0.:0.9:0.0.9:0.0.0.0.9.0:9:9.0.9.0.9:0:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX XKXXXXXXXXME/1-6600502-00006XX
LimitExerciseOl for No.9491

Nol {f() X6 6}
ol=|f(x)=—"—"F"",a=
S5x+x—6

| x | 5.8000| 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001] 6.0010|] 6.0100] 6.1000] 6.2000]
x =7
No2=|f(x)=—"",a=49
x—49
| x 148.8000148.9000148.9900148.9990148.9999|.. |a = 49]...149.0001149.0010(149.0100149.1000149.2000
X +2x
No3 = f(x)=—|x| ,a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
No4=|f(x)=—"a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
4 x
No5S=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-12,B=-4,y=2,5=6,c=12]
DRI (CHE NN D 9.0:9.:0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.9.9.0.9:0:9.0.9.0.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX XKXXXKXXXXXME/1-6600502-00007XX
LimitExerciseOl for No.9633

6e —
Nol=|f(x)=—""a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
6|x|
No2=| f(x)=—; ,a=0
L X +2x i
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
12-7x+x
No3=|f(x)=—""—",a=3
—3+x
x | 2.8000] 2.9000] 2.9900] 2.9990] 2.9999|.. Ja = 3]...] 3.0001] 3.0010| 3.0100| 3.1000| 3.2000]
sin(x)
No4d=|f(x)=—"a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
4 +x
No5S=|f(x)=—="",a=4
Jx =2
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

No6=[o=-3,p=-1,y=3,8=10,c=12]
ORI (CHE VR ID 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXKXXXXXME/1-6600502-00008XX
LimitExerciseOl for No.9711

x—06
Nol=|f(x)=—"">,__,a=6
3x+x —-18
| x | 5.8000| 5.9000] 5.9900] 5.9990| 5.9999|.. |la = 6]...] 6.0001] 6.0010| 6.0100|] 6.1000| 6.2000]

[9=1 o)
No2=|f(x)= ~a=0

l-e
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
-9+x
Nod=|f(x)=—=""a=9
Jx -3
| x | 8.8000| 8.9000| 8.9900| 8.9990| 8.9999|.. Ja = 9]...] 9.0001|] 9.0010] 9.0100] 9.1000] 9.2000]
X +3x
NoS=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-11,B=-8,y=-1,6=4,c=10]
DRI (CHE NI N IND 9.0:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:0:0.9.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKKKKKME6/1-6600502-00009XX

LimitExerciseOl for No.9784
S5x+x°—6
Nol=|f(x)=—————,a=6

x—6
| x | 5.8000| 5.9000] 5.9900] 5.9990| 5.9999|.. |la = 6]...] 6.0001] 6.0010| 6.0100|] 6.1000| 6.2000]
3—a/x
No2=|f(x)=—"",a=9
-9 +x
| x | 8.8000] 8.9000| 8.9900| 8.9990| 8.9999|.. |a = 9|...] 9.0001] 9.0010| 9.0100| 9.1000| 9.2000]
- , Z
X +x

No3 = f(x)zw,azo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Nod=|f(x)=—"""a=0
L e —1 |
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-6,p=-1,7y=0,8=2,c=10]
ORI (CHEICH D 9.9:9.:0.9.9:0.:0.0.9.0.9:9.0.0.0.9.0.9:0.0.9.0.9.9:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.9.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX XKXXXKXXXXXME/1-6600502-00010XX
LimitExerciseOl for No.10143

Ax =17

Nol :[f(x):x_—, a:49}

49
| x [48.8000[48.9000148.9900148.9990148.9999].. |a = 49]...149.0001149.0010149.0100149.1000149.2000]
4e -4
No2=|f(x)=—"""",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010]-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010[-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|
9x
Nod=|f(x)=7>"_1,a=0
|x +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

x +x-—42
| x | 5.8000] 5.9000] 5.9900|] 5.9990| 5.9999|.. |la = ©6]...] 6.0001] 6.0010| 6.0100| ©.1000| ©.2000|

No6=[o=-11,B=-8,y=2,8=3,c=10]
DRI (CHE NN IR IND 9.9:9.:0.9.9:0.:0.9:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:9:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4

x—6
N05={f(x)=2—,a=6}



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK XKXXXKXXXXXME/1-6600502-00011XX
LimitExerciseOl for No.10626

5-5¢
Nol=|f(x)=—""a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3x-28+x°
No2=|f(x)=—"——",a=
4 +x
x | 3.8000| 3.9000] 3.9900] 3.9990] 3.9999|.. la = 4]...] 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010]-0.00011.. Ia = 0]...] 0. OOOlI 0.0010| 0.0100| 0.1000| 0.2000]

_2x
No4 =| f(x) = ,a=0

| x |[-0.2000[/-0.1000/-0.0100/-0.0010|-0.00017].. Ia = 0]...] O. OOOlI 0.0010| 0.0100| 0.1000| 0.2000]
4 +x
No5 =| f(x)= [
| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999].. Ia = 4. OOOlI 4.0010| 4.0100| 4.1000| 4.2000]

N06:[0c:-12,[3:-4,y:-2,8:1,8:3]
bR Te (CHE NN D 9.0:9.:0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK KKK KKXXXXXXXXME/1-6600502-00012XX
LimitExerciseOl for No.11002

5-5¢
Nol=|f(x)=—""a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
64 — x
No2=|f(x)=—"F=,a=64
8 —/x
| x 163.8000163.9000163.9900163.9990163.9999|.. |a = 64]...164.0001164.0010164.0100164.1000164.2000/|
1 —cos(x)
No3=|f(x)=—"""",a=0
X
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
6 x
Nod=|f(x)=17>"_1,a=0
|x +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—T+x
NoS=|f(x)=—""",a=7
-14-5x+x
| x | 6.8000] 6.9000| 6.9900| 6.9990| 6.9999|.. |Ja = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]

No6=[a=-4,=-3,y=-1,0=7,e=8]
DN BET TN N AIED 0:0.6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKXME6/1-6600502-00013XX

LimitExercise0Ol for No.11188
cos(x)—1
Nol=|f(x)=—""—,a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
5¢ -5
No2=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
—10x +x” + 24
No3 =| f(x)= ,a=
x—6
x | 5.8000|] 5.9000| 5.9900| 5.9990] 5.9999|.. |la = 6]...| 6.0001|] 6.0010|] 6.0100] 6.1000| 6.2000]
4] x|
No4 =| f(x)=—; ,a=0
X +2x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
5-4/x
NoS=|f(x)=—"—"",a=25
25 —x
| x 124.8000(24.9000124.9900124.9990124.9999|.. Ja = 25]...125.0001125.0010(125.0100125.1000125.2000

No6=[a=3,p=4,y=5,8=6,£=9]
PRI ONICH D 0:6'0°0.:0.0°0:0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK XKL KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6600502-00014XX

LimitExerciseOl for No.11505
Nol [f() oox 16}
ol = X :—’a:
Jx -4

| x [15.8000[15.9000115.9900115.9990115.9999].. |a = 16]...116.0001116.0010116.0100116.1000[116.2000|
—3+x
No2=|f(x)=—""",,a=3
I5-8x+x
| x | 2.8000| 2.9000] 2.9900] 2.9990| 2.9999|.. |a = 3|...| 3.0001| 3.0010| 3.0100] 3.1000| 3.2000]
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000/-0.1000/-0.0100]-0.0010/-0.0001].. |a = Of...|] 0.0001] 0.0010| 0.0100] 0.1000| 0.2000|
X +3x
No4=|f(x)=—77,a=0
i | x| 1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

4
NoS=|f(x)=—""a=0
X ]
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-12,p=-10,y=0,6=7,£=9]
ORI (CHE AR/ IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0:9:0.9.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKXME6/1-6600502-00015XX

LimitExerciseOl for No.12113
Nol [f() fo-x 16}
ol = X :—’a:
4-4fx

| x [15.8000[15.9000115.9900115.9990115.9999].. |a = 16]...116.0001116.0010116.0100116.1000[116.2000|
3x
No2=|f(x)=y—>"""7,a=0
|x +3x
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
3x
No3=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
~12+4x+x
Nod=|f(x)=—"",a=
—2+x
| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Jla = 2]...] 2.0001|] 2.0010] 2.0100] 2.1000] 2.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-12,B=-10,y=-2,5=6,c=12]
DRI (CHE NN R IND 9.9:9.:0.9.9:9.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX X KXXXKXXXXXME/1-6600502-00016XX
LimitExerciseOl for No.12541

2x
Nol z{f(x):2—,a20}

|x +Xx

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-3 +x
No2=|f(x)=—"",,a=3
3-2x+x
x | 2.8000] 2.9000] 2.9900] 2.9990] 2.9999|.. Ja = 3]...] 3.0001] 3.0010| 3.0100| 3.1000| 3.2000]
1 —cos(x)
No3=|f(x)=—"—"—"",a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
Jx -1
Nod=|f(x)=—"",a=1
x—1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
4e -4
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-11,p=-10,y=-1,6=0,c=7]
DRI (CHE NN IND 9.9:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.:9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK XKXXXKXXXXXME/1-6600502-00017XX
LimitExerciseOl for No.12590

[ 4|x| }
Nol=|f(x)=—">"_",a=0

X +2x
| x |-0.2000/-0.1000|-0.0100]-0.0010]-0.00012).. |a = O0O]...] 0.0001)] 0.0010| 0.0100| 0.1000| 0.2000]

e -1
NoZz{f(x)z ,a=0}
X

x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
1 —cos(x)
No3=|f(x)=—"—"—"",a=0
X

x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

Ix -7

No4d=|f(x)=—"a=49

49 —x

| x 148.8000/48.9000148.9900148.9990148.9999|.. |a = 49]...149.0001149.0010149.0100149.1000149.2000
—6x+5+x
NoS=|f(x)=—"—"",a=5

—S+x

| x | 4.8000| 4.9000] 4.9900| 4.9990] 4.9999|.. Jla = 5]...] 5.0001] 5.0010| 5.0100| 5.1000] 5.2000]

No6=[o=-4,B=-3,y=-2,8=3,£=8]
ORI (CHE N E D 9.0:9.:0.9.9:9.:0.9:9.0.9:0.0.0.0.9.0:9:9.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX KKK KKK KKK KKK KKK L KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6600502-00018XX

LimitExerciseOl for No.12621
Nol [f() el 64}
ol = X :—’a:
8 —/x

| x [63.8000[163.9000163.9900163.9990163.9999].. |a = 64]...164.0001164.0010164.0100164.1000]64.2000/
2€¢ -2
No2=|f(x)=—"""",a=0
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
3]
No3 =| f(x)=—3 ,a=0
L X +3x i
| x |[-0.2000/-0.1000|-0.0100]-0.0010]-0.0001].. Ja = O] | 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
Nod=|f(x)=—"",a=
L X |
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
_ ) -
x —x-30
No$5 = ﬂx)z—___?;_;a=6
| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. |Ja = 6]...] 6.0001] 6.0010|] 6.0100] 6.1000] 6.2000]

No6=[a=-6,=0,y=2,0=3,e=5]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX KKK KKK XXX XXX XXX KKK KKK KKK KKK XKXXXKXXXXXME/1-6600502-00019XX
LimitExerciseOl for No.12641

4e -4
Nol=|f(x)=—""a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
36 —x
No2=|f(x)=—"F=,a=36
6—+/x
| x 135.8000135.9000135.9900135.9990135.9999|.. |a = 36]...136.0001136.0010(36.0100136.1000136.2000/|
1 —cos(x)
No3=|f(x)=—"""",a=0
X
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
3x
Nod=|f(x)=7>"_1,a=0
|x +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—1
No5=|f(x)=——""_,a=1
X +6x-7
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]

No6=[a=-11,p=-10,y=-4,5=0,c=11]
ORI (CHEVNRCH D 9.9:9.:0.9.9:9.:0.0:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.9:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK KXXXXXXXXME/1-6600502-00020XX
LimitExerciseOl for No.12674

e -1
No]:{f(x): ,azO}
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
X +2x
No2=|f(x)=—77,a=0
x|
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
L X _
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
x—20+x"
Nod=|f(x)=—",a=4
L 4 +x J
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4|...| 4.0001|] 4.0010] 4.0100| 4.1000] 4.2000]
6—/x
NoS=|f(x)=—"—",a=36
x—36
| x [35.8000135.9000135.9900135.9990(135.9999].. Ja = 36]...]136.0001]36.0010(136.0100136.1000136.2000 |

No6=[a=-12,B=-4,y=-2,8=0,e=5]
DRI (CHE VIR ID 9.9:9.:0.9.9:9.:0.9:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9:9:9.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.9.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK KKK XKXXXKXXXXXME/1-6600502-00021XX
LimitExerciseOl for No.12728

Nol z[f(x):@, azO}

| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001|.. Ja = Of...| 0.0001|] 0.0010| 0.0100] 0.1000| 0.2000]

X +x
No2 = f(x)zw,azo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
x—06
No3=|f(x)=—","_,a=6
2x+x —-24
x | 5.8000|] 5.9000| 5.9900| 5.9990] 5.9999|.. |la = 6]...| 6.0001|] 6.0010|] 6.0100] 6.1000| 6.2000]
4 +x
Nod=|f(x)=—""F=a=4
2-4fx
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...] 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]|
3¢ -3
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-11,p=-4,y=6,5=7,¢c=12]
DRI (CHE VNN IND 9.0:9.0.9.9:0.0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:9:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9.0.0.0.0.:0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK KKK XXX XKXXXKXXXXXME/1-6600502-00022XX
LimitExerciseOl for No.14247

Nol :[f(x) 2%, a= 64}

| x [63.8000[163.9000163.9900163.9990163.9999].. |a = 64]...164.0001164.0010164.0100164.1000]64.2000/
X +2x
No2=|f(x)=—"77"a=0
x|
| x |-0.2000/-0.1000]-0.0100]-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
-3 +x
No3=|f(x)=—"",,a=3
I5-8x+x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2x
No5S=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-11,B=-10,y=-4,8=-3,c=8]
DRI (CHE VA D 9.0.:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:0:9.0.9.0.9:9:9.0.9.0.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.:0.0.9:0.9.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4
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